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3 a 95by29.5 b 28025m’
4 a ()s=600u=10y=90 (i) 12
b 12,64 (2dp),s,uand v have 2 dp.

54 C=lsned b
639,000 feet
7
o [ 1 [ 2] 4 [ s
15| 075 | 05 | 075 | 15 | 275
b 15m ¢ 05mat2s  d 06sto3ds
" v-250
8 a 5500liwes b 10 aparments ¢ N =122
9 b 30cm
10 9% b r=m°
I
2 i) (90-3v)°
3
4oa L bl P a2
is 3 i i

15 a 10em b 24em ¢ 62

‘The last answer is not possible, as it is negative.
16 173 cm®
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END OF UNI

T a 1L6=687 ¢ 1065 =176
473
25°20°8

3 a2843x-5 b 8- 10r+37

48 Q=553gQ;=564gm=559g, b IQR=1.1g

a Tn- 3,697 b 41— 9n,-859
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a 68% b 795920 © 31

16 mis
a (x- 10 +8)=0x=100r- & b (- 12)x42)=0x=120r-2
56,76
a Tm.slaﬁm(g] b Rotation about (~1,1),90°
¢ Reflection iny =1 d Enlargement: SF =3
Centre = (3,4)
9 12 15
a 65 b8-6-2
¢ Clockwise rotation of 90° about (-1,2)
© Anticlockwise rotation of 90° about (~1,0)

b2 lor ¢ 10 hurdles

g/pto 3 s.£:4.03,4.04 and 3.95 50300 2,500 g and 400 g
a (- DE-3)=0x=lor3 b (+3)x+2)=0x=-3or-2
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ax=9 x=40

a 10" 1x 10"

a 3x10° 440 000

a 9278 182.8
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a 38 b8

a2 b4

a y=3x+2andy=3x3; the x co-cflicents are the same.
ax=6 b x=-10.5

12v-15

©
c x=15
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1 a 02 b 68 © 02

12 a 8.0 x 10° b 7.5x 10" © 95x 100
13 a 3ab+a b 4d © detd
1 12%

15 13by111%

16 a 18 b1 39

{13,57,9,11LE A T={6,12},F » T= {12}
{odd integers less than 13},

E A T= {multiples of 6},

multiples of 12}.

gaoM

157,11

18 a All houses with electricity have mains water. E = W
b House p has mains water and gas but no electricity.

candd
€

19 ay=

a 3@+2)=20+10
a 20x- 10(30-x) = 180 b 16
3+ S(r—10) +2(x +20) = 890 b 90 cents
150°,30°

112°,29°

%x+20r2r+3y:6
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1 £1
2 Japan £200, France £225, Greece £250; so buy it in Japan!
3ak b pt ¢ 3m dy°
4 a 128 x 10°km b 71 min
5 2min39s
6 a 524%10%m b 9.5x 10°m © 5.6 x 107 light years
7
9

"

= y-s

10 a 15 b9 ¢ 10
11 25cm
12 a 4000 b 120
13 a 9.01cm b 37.8cm”
1 B
15 a 513° b 289m89m ¢ 218
16 a 128 b1 ¢ 0.9
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2a0) 3 (i) 12
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b() x@+7) () ot +3)
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0w o wox
Time (s)
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5 177em
6 a 468 b 674 e 322 a752
7 a Gainof£275 b 299% ¢ £236approx
8 a () x=55 (i) x:%
b)) SPQ-3)  G) 4R +ady-6)
¢ x=24bydamd2by8
9 a 3358 ft b 37%
10 a 98mis b 35.4 kph PRIEE a4 22ms
1 oax=2y=5 b x=3,y=
12 a 49Im b 0.382m
13 a 87cm b 37cm ¢ Sem d 125 cm?
14 a 624km bo() 5130 (i) 3213° (i) 1413°
15 a () 4880km (i) 4090km (i) 38200km  (iv) 123°
b Tangent is perpendicular to radius. Therefore the smallest possible value of angle ODS is 907, since a

‘smaller value would mean that the signal would pass back into Earth before reaching Delhi.
77 000 km
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UNIT 4 QUESTIONS
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b (i) 0177886 (i) 177886
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